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ERRATUM
(Received November 19, 2019)

A. Luszczak
Dipole Model Analysis of HERA Data Within the HERAFitter Framework
Acta Phys. Pol. B 44, 1537 (2013)

The author’s e-mail address should read: agnieszka.luszczak@pk.edu.pl
In Table IIT on page 1541, the following changes should be made:

15t row, 10" column — Np should be replaced by Ndf;

4™ row, last column — the value of 0.927 should be replaced by 0.967.
The sentence below Table IIT on page 1541 should read:

The quality of the fits from the BGK dipole model with valence quarks
matches the quality of HERAPDF fits from Table II for Q2 > 8.5.

In the first sentence of Section 5, Ref. [9] should be replaced by [5].

Figure 2 on page 1542 should be replaced by the following figure:
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The last but one sentence in Section 6 on page 1542 should be replaced by:
We show prediction from BGK dipole model for F}, proton structure func-
tion in NLO approach.

Figure 3 on page 1543 should be replaced by the following figure:

Combined ZEUS and H1 Data
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